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asym_bcm_dg_us_rms vs run
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yield_bpm11X rms vs run
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yield_bpm11lY_rms vs run
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yield_bpm12X rms vs run
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Y_mean vs run
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yield_bpm16Y_rms vs run
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yield_bpmOIO1X rms vs run
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yield_bpmOIO1lY_ rms vs run
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o uw
™M O
-~ |
5 3
? o
o X
%3
+l
< X
- O
AN
AN
o
o
[V -
©
c
~~
N o
< Q
°
| 1

N MmO o o -

m < 10w o0 o 4 o -

o 4 Nm <t nmwo T m s nw o TN

‘0299
‘029S
‘67199
‘9199
‘9T9S
‘9799
‘9199
‘9799

‘9799
‘9199
‘€199
‘€199
‘€8G9
‘€899
‘€899
‘€8G9

‘€899
‘€859
‘€8G9

28599
¢89S
¢85S
¢85S

¢85S

¢85S
‘18599
‘18S9
‘18599
‘1899

18G9

‘18599



12

0.8

0.6

0.4

3000

2000

1000 =

-1000

—-2000

-3000

-4000

-5000

yield_bpmO0I02Y_mean vs run

X2 I ndf
p0

1.146e+08 / 30
0.9749 + 2.881e-05

5620. 1

31
-11.69
27.02

0.8

0.6

0.4

0.2

pulllD

Entries

- Mean

Std Dev

31

0

€ 6 4 2 0 2 4 &




yield_bpmOIO2Y_rms vs run
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yield_bpmOIO3X_rms vs run
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Y_mean vs run
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yield_bpmOIO3Y_rms vs run
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yield_bpmOI04X_rms vs run
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yield_bpmOIO4Y_rms vs run
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yield_bpmOIO5X_rms vs run
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yield_bpmOIO5Y_rms vs run
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yield_bpmOIO6X_rms vs run
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yield_bpmOIO6Y_rms vs run
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yield_bpmOIO7X_rms vs run
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yield_bpmOIO7Y_rms vs run
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